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QUESTION 1

Which three statements are true regarding Cisco SDWAN license tiers? (Choose three.) 

A. With Pro license, control and data policies are supported 

B. With Plus license, split-tunnel is supported 

C. With Pro license, unlimited segmentations are supported 

D. With Plus license, Hub and spoke, partial mesh are supported 

E. With Enterprise license, vAnalytics is included 

F. With Enterprise license, TCP optimization is not supported 

Correct Answer: ABE 

 

QUESTION 2

Which party solution integrates with Cisco\\'s security and network portfolios within the ISE? 

A. 25+ 3rd party solutions 

B. 20+ 3rd party solutions 

C. 30+ 3rd party solutions 

D. 45+ 3rd party solutions 

E. 60+ 3rd party solutions 

Correct Answer: E 

 

QUESTION 3

Which two are benefits from a WAN design? (Choose two.) 

A. Prioritize and secure with granular control 

B. Reduce cost and increase operational complexity 

C. Lower circuit bandwidth requirements 

D. Provide lower quality service to guest users 

E. Ensure remote site uptime 

Correct Answer: AC 
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QUESTION 4

Which three services must be enabled under the ISE Admin settings to successfully integrate ISE, when integrating ISE
with DNA-C? (Choose three.) 

A. SXP services 

B. ServiceNow 

C. Threat- Centric NAC 

D. Infoblox 

E. PxGrid 

F. Passive Identity Service 

Correct Answer: AEF 

Reference:https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/network-automationandmanagement/dna-
center/1-1/install/b_dnac_install_1_1_0P2/ b_dnac_install_1_1_0P2_chapter_010.pdf page 

 

QUESTION 5

Which are three functions used by ISE automation BYOD flow? (Choose three.) 

A. Supplicant Provisioning 

B. Device Registration 

C. Certificate Enrollment 

D. BioMetrics 

E. LDAP Multi Tenant Provisioning 

F. Active Directory Group Membership 

Correct Answer: ABC 
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